EARAROBEEIERT — 2 N— IBISH —F

2017527188 (£) 2E=#H7H

KRl SR 3 REEF

[($57E] Fikb

EZS

=

‘ [EERRE] — | 4 (&) 1400M FHE

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
RIS C. JLx—Jb .05, _ . . FEEESR (EX)
i lglis| NTH AL 3 $o 1(2_5)9 2-2 37.9| 8.1 | 4 ig? BRI
RGATAT v — BiA—TELX =K@
o st 3 | FRIEGAH 1:26.0 11-11 [ 36.9] 84.2 | 7 464 | KIESEH (FEF)
2 4 AZXHAY— b A51.0 (1/2) (-2) KRR
L:Xx—r77)a> BIXXHIVE-— N=tie)
— v o s M. FL—0O -06. — . . BE—% (FXR)
3 3|7 SIN=T vy # 3 56.07— 1(12/62)] o 3.2 8.3 2 ‘:2;1 S AN
:xALIZTyr—2R BRI —bTFIwT HRXEHE /-
$ o S 2 4 3 | BRERS 1:26.1 3-2 38.0| 83.3 | 5 496 | MATTIERH (RR)
4|5[10| 2>/ A3 .0 (F) (o) | B
L:N40 B:a25h70Fa—L INRAS
5 4 3 | HAILEATE 1:26.2 1-1 38.4| 85| 3 508 | itiAFRME (3ER)
sl g | VAR 56.0 (5€) 4y | ) AFVTE-NF TR
L:yA7% BiLTaA-)b #HH BB
7 . 4 3 | AHERH 1:26.6 5-5 38.3| 78.9 | 1 484 | AEHEN (BR)
6|7/13| 27—/ —b> 56.0 @ 1/2) o) |_#) NICKS
RW—5—y 7 BviwibnNd— AL
. s o 3 | T2 TER 1:26.7 9-9 37.8| 78.0 | 9 478 | RR—R (EH)
7 7 NTF Rk—7 % 56.0 B (3/4) o) Bll—E
RN=Y754 B:~NTFRKET7— [EA=bie]
i 3 | Bl 1:26. 14-14 [ 36.9| 77.0 | 13 | 494 |FESBE (RR)
8 5| F—HLA 56.0 (7€) 2 | W) JU-—>T7—L4
R:d—IWR7Y2—b B:Fv—3I> 945 HET7—L
= i 4t 3 | EP#E 1:26.8 3-4 38.8|77.3 | 6 468 | =iEEE (5ER)
9 6| 7NTR 56.0 7€) 8) FEFLA TS T ()
RAXHT7Zy 7R B:Fabkyvay Fy o amEEMRASH MY adK
> = 4t 3 | sUEMER 1:26.8 8-9 38.1|77.1| 8 488 | 3EllFEZ (RR)
1ol 12 X1 >av+r>7 [B] 56.0 (F <) (o) |BAtFiE
L:xF1=FGr—R B:x/4YauFra— = &S
T RGN 4 3 | EoHN :26.8 12-12 | 37.2| 77.1 | 10 | 470 |EMEE (EX)
11|8(16| 71 77>~ K170 56.0° A Ly |KBEE
L:Tv TRy b BT T -0 (B) #A3—-RKL—va>aE77
=9 . 4 3 | FEHE#ER 1:27.3 5-7 39.0 | 73.1 | 14 492 | FBR (ER)
121112 eQ/z>v> 56.0 (3) (-6) Y IAR%E (%)
R:ZALIST Ry 7R BieAHTYE X NS
= . 4 3 | HPfE2 1:27.4 5-5 39.1] 72.3 | 12 482 | BFEH (EH)
13/5/9| 7 NMT TR 56.0 (172 Lo |NEER
RiwyUgTdyk BETRNIT A=Y JRE g
. o # 3 | BRE 1:27.9 12-12 [ 38.3| 67.4 | 15 | 430 |ALHAA (E®)
14/ 11| YyHNERRX ¥¢53.0 3) (-) |LTE=IE
R yhOLYIL B:UyHET RY— REO4u5
4 3 | MEBZ 1:28.7 16-16 37.0 | 60.0 | 11 510 | HAKERR (FH)
15(7 14| 7L AR 56.0 ®) R
RFATxATv— BOUTLHR (B) A1 -FRL—->a>@aEI7r
S i 3 | BERX 1:32.9 14-15 | 42.8| 35.4 | 16 | 422 |BIEE (RR)
EHH 7)1 —H 54.0 (21 4) (-4) FEARERE
R:b—tiRILEY BIUIRYIR #wH 5
@ 71 L
) 50.5-38.1
NA>ZA L | 12.3-11.2-11.9-12.4-12.7-12.2-13.2
® I —F—@EBIERL
13=3r=
230—7F—
Gol=5r= (x8,15) (6,10) (2,9,13)-12(7,3)4-(1,16) (5,11)=14
40—+ — 8(15,10)6(9,13) (2,3) (7,12)4(1,16)-5-11=14
[ N3
H OB 15 1,050 714K 4-15 2,430/ e E 2-8 810 JEHE 3-4-15 6,960/
8 B 15 270 Balld) 600 B = 4-15 9,460M B 15-4-3 63,950/
4 410M 3-4 770M B H 15-4 16,050M
3 1604

ABICOVWTRDTEEERROODE. TR LIV,




